Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HG90_HRS16_96_D65_00%_Q0_, =(L» — L*y ) / (Lr y -L*
CIELAB-Bunttonwinkel:

hap,¢=[32, 100, 145, 206, 265, 348] 1«
Nap eF[26, 92, 162, 217, 272, 329]

N)
atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]

N, 126, 92, 162, 217, 272, 301 . 1100G Crapalats +b%° 1"

a*5=Cap,a C0S by
b*3=C*ap,aSin hap

Buntheit
a*y




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: HG90_HRS16_96_D65_00%_QL_ =(L* ~ L*y ) / (Lry -L*
CIELAB-Bunttonwinkel:

hap,¢=[32, 100, 145, 206, 265, 348] 1«
Nap eF[26, 92, 162, 217, 272, 329]

N)
atg=ar —ary ~ gy [afw —aty ]
a brg=b* — bty =~ ap [b*w —b*y]

* —[a* 2 x 2712
hap,F[26, 92, 162, 217,272, 329] | J00G ~ Clabal@'a *b*a 1Y
JOOG

a*5=Cap,a C0S by
b*3=C*ap,aSin hap

Buntheit
a*y




